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HARZH BHAEBAE

KARSH
P
Ayt & /77 Ps (MPa) 2~31.5
BE I & Qn APN=21MPa 30~ 50, 63. 100
(L/min) APN=7MPa 18. 30. 36. 60
BEmERZE (%) +10
BiE IR In (mA) 15 40 15 40
LRI HPH (Q) 200 80 200 80
W (%) <4 =2
IIHERE (% <1 <0.5
JELRPERE (%) =17.5 <3
AXFFRE (%) <10
Fw (%) <+2
=S (%) <+2.5
P (%) <1.9~3.0 <2.4~3.5
JEF1335 (%Ps/1%In) >30 >50
EEZE (AT=40C) <+2
Ayl 5 A ZRE (80% 110%) PN (%) <+2
513 R /1 (0% 20%) PN (%) <+2
T E A a=10 g (%) <+2
J— Mg A 58 (—3dB) =50 (30~ =40 (100L/min) =80 (30~ =60 (100L/min)
HIARTE (=90° ) =50 (30~ =40 (100L/min) =80 (30~ =60 (100L/min)
WA (CH -257105
s (Kg) <1.6

A 40+6°C WAyl K /) 21MPa.
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